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( Principles of Macroeconomics—II )
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The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
o ePrTRd e ferd

(a) Who put forward the IS-LM model?
IS-LM Sf3Z61 (Pl SoReiefes ?

(h) What is the condition for equilibrium in
the goods market?

w3} IEEE SR 56 7
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(c)

(d)

(e)

(9

()

)
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(2)

Define effective demand.

ey vifEwE e |

What is meant by aggregate supply?
e Qe e & 3w 2

What is stagflation?
froerPife &2

What is meant by unemployment rate?
e 23 Iferce & qmm 2

Give an assumption of multiplier.

QIR o1 SR forqm |

What is Balance of Payments?
TR el 2

Give the meaning of demonetization.

Ry wef forar |

What is exchange rate?

Rt 27 5 2
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2. Answer the following questions : 2x5=10
o PR e ford
(a) What are the components of aggregate

(b)

(c)

(@)

(e)

24A/742

demand?

FAES SR Tomerrz & R 2

Why is the slope of IS curve negative?
IS (A¥ o 49 92

Show the differences between Current
Account and Capital Account.

e fRore Wi A B TR NP
TS |

Mention two features of inflation.

PR 161 Caf%r SEe 70 |

What are the two types of foreign
exchange market?

tacrte R e 7o &R 4 2

{ Turn Over )




| &)

3. Answer any four of the following questions :
5x4=20

Soiq 2pTRd R e SRR T fere

(a) Define aggregate demand curve. Why
does the aggregate demand curve slope
downward?

e vfdm @R W fawn o ARl o
RIS SEARICA GIEcRT 3% 2

(bp) What are the limitations of IS-LM
model?

IS-LM wfEs Hreerz & & 2

() Explain the importance of multiplier.
BIFY BFT A A

(d) What are the measures to control
inflation?
TS P sam IREPE R R0

fe) Define Phillips curve. What does the
short-run Phillips curve show?
Refrrp @ e for | TP s @3
& om0
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() Give the meaning of foreign exchange.
What are the instruments of foreign

exchange?
e Rt wdf fawn aofe Rt
ez & 2
4. Answer the following questions : 10x4=40
o 2T T forat

fa) Define IS-LM curve. Explain the IS-LM
model with the help of diagram.

IS-LM @R e fagr 1 IS-LM fEcer o
SRS A 47 |

Or / 941
Explain how LM curve is derived.
LM @31 R o1 40 =/, 00 90

(b) Explain the causes of demand-pull and
cost-push inflation.

TarPfe siRm-gfERe W E-IEEe

SRPTE 0 |
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(c)

(d)
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(6)

Or / 9@l

Discuss the effects of inflation on
production and distribution.

TV WE RO 8RO Trfed oeR
A F4T |

What is multiplier? Discuss the working
of multiplier.

23 & 7 @I FRARF SCE 41 1

Or / 9%

Explain the nature of short-run and
long-run aggregate supply curve.

oA wF WA TR @ @9
oS = 41 1

What are the causes of disequilibrium
in Balance of Payments? Mention the
measures to correct the disequilibrium
in Balance of Payments.

(AT SO SIPTIRTOR FRCE R 1 2
smmwzm TSR SRR FRRe TR
|

—
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Or / a%[1

What is foreign exchange market?
Explain the functions of foreign

exchange market.

e Rt Iwr {2 aefie RfFw =3
FARE I 401

% Kk
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